
 بدون مرشح

r.f 

 النظري

0.48 

    
    
   

 

 العملي

     
الحساسية   

 √ 
 VD.C المرشح 

 مقاومة الحمل

RL 

    

 بدون مرشح

100Ω 

1kΩ 

4.7kΩ 
   

   

 Cمرشح نوع 

r.f 

 النظري

    
    
   

 

 العملي

     
الحساسية   

 √ 
 VD.C 

 المرشح

C 

 مقاومة الحمل

RL 

 

 √      
 

 وجود مرشح   

C-filter= 

100μf 

100Ω 

1kΩ 

4.7kΩ 
   

   

 

 √      
 

   C-filter 

10μf 

100μf 

500μf 

 

1kΩ 

 
   

   

 Lمرشح نوع 

r.f 

 النظري

    
    
   

 

 العملي
     

الحساسية   

 √ 
 VD.C 

 المرشح

L 

 مقاومة الحمل

RL 

 

 √                
 

 وجود مرشح   

L-filter 
L=5mH 

C=100μf 

100Ω 

1kΩ 

4.7kΩ 
   

   

 

 √                
 

   L-filter 

L=5mH 

C=10μf 

100μf 

500μf 

 

1kΩ 

 
   

   

 πمرشح نوع 

r.f 

 النظري

    
    
   

 

 العملي

     
الحساسية   

 √ 
 VD.C 

 المرشح

π 

 مقاومة الحمل

RL 

√ 

                     
 

 وجود مرشح   

π-filter 

c1=c2 

100μf 

100Ω 

1kΩ 

4.7kΩ 
   

   

√ 

                     
 

   π-filter 

c1=c2 

10μf 

100μf 

500μf 

 

1kΩ 

 
   

   

L=5mH                  fL=50 HZ 


